

“MUSIC”: A STRESS RELIEVING FACTOR IN PATIENTS UNDERGOING DENTAL SURGERIES

JEMBULINGAM S*, JOTHI PRIYA A, GAYATRI R

Department of Physiology, Saveetha Dental College, Chennai - 600 077, Tamil Nadu, India. Email: drjembu@gmail.com

Received: 31 March 2016, Revised and Accepted: 09 April 2016

ABSTRACT

Objective: Music is one of the inexpensive, safe, and non-pharmacological stress-reducing factors. Various surgeries increase the stress levels of the patient by increasing their blood pressure and anxiety level. This change in blood pressure can be lowered by certain safe and non-invasive techniques. One of the significant techniques is to listen to music. Hence, the objective of this study is to validate the fact that music help acts a stress relieving factor by decreasing the blood pressure of the patient who is undergoing dental surgeries.

Methods: About 20 participants were selected for the study; out of which, 15 participants participated in this study, and others were excluded as they did not meet the inclusion criteria. The blood pressure was calculated at rest position before the surgery, and then pleasant soft music was played to the patient during the surgery. Then, the blood pressure was measured at an interval of 5 minutes for a span of 15 minutes. The observed blood pressure was recorded. Statistical analysis was done with the recorded data in Statistical Package for the Social Sciences Software (version 20).

Results: Initially, the blood pressure of the patient was found to be at a mean level of 107/65 mmHg which rose to a greater heights of 116/68 mmHg which then lowered down to a mean level of 108/61 mmHg at the end of 15 minutes after the music was played to the patient during the surgery.

Conclusion: This study can conclude by saying that pleasant and soft music has an ability to stabilize the systolic blood pressure of patients undergoing dental surgeries.

Keywords: Systolic blood pressure, Music, Stress, Dental surgeries, Stress busters, Soft music.

INTRODUCTION

Different kinds of surgeries stimulate various degrees of anxiety and stress for the patients who are undergoing the surgery. Scientific studies evident that patients undergoing surgeries experience a high level of anxiety and stress levels, mainly before the surgery [1]. Anxiety emerges out due to the anesthesia process, fear of needles, fear of pain, bad prognosis as well as the post-operative effects after the completion of the surgery [2]. All the above-mentioned factors together increase the stress levels of the patient who is scheduled for the surgery. Blood pressure is one of the factors that are influenced by increasing stress levels, which act a biomarker to show the increase in stress levels.

Music had been an auxiliary method of treatment to relieve the patients from anxiety and stress [3,4]. During the Second World War, music therapy was introduced in various hospitals, and doctors were specially trained to treat patients with this therapy [5]. Later, music was even used in psychiatry and psychology to treat patients. The music therapy was also utilized to treat patients who were affected by Parkinson's disease [6].

Music has a unique relation with the health of the heart. Music of different genres relaxed the heart, which decreased the respiratory pulse, cardiac rate, and the arterial blood pressure of the human body [7]. Older studies prove that music on the coronary units of the heart contributes significantly to the stress reduction when assessed by appropriate psychometric tools [8]. Music has a very significant effect on decreasing stress levels in patients who have undergone open heart surgery [9]. Pleasant music such as vocal music has a better association with the cardiovascular and respiratory centers than another genre of music [5].

Elevated levels of anxiety and stress are often seen in patients who are undergoing surgery, during the pre-operative and post-operative

periods. This increase in stress levels is often determined by an increase in blood pressure and an increase in heart rate [10].

Studies have been done to elucidate the positive effects of the therapeutic use of music to treat the pre-operative anxiety [7,11-17]. Music has also been accepted to be as an alternate to anesthetic medicines. Wang *et al.* concluded his study by saying that patients who listened to music before undergoing surgery reported of fewer anxiety levels than that of the people who did not listen to it.

Moreover, a certain genre of music such as meditation music decreases the stress levels in this hectic routine which is faced by almost all humans due to the change in lifestyles.

The purpose of this study is to analyze the effects of music on stress in patients undergoing dental surgeries by measuring their blood pressure, and pulse rate as a means to know the stress levels.

METHODS**Sample and setting**

A cross-sectional study was conducted for 2 months from December 2015 to February 2016 in Saveetha Dental College and Hospitals, which serve a population of more than 100 patients a day.

The population of study sample has about 15 patients who underwent a 1-day Dental Surgery in Saveetha Dental College and Hospitals. Patients with severe diseases such as diabetes and renal disorder where not included in the study.

Ethical consideration

The research protocol was submitted to the Committee of Ethics of Saveetha Dental College and Hospitals, and necessary permission to conduct the study was obtained. Furthermore, an informed concern was obtained from the participants of the study.

Process

All the patients who are scheduled to undergo dental surgery were informed about the research, if the patient agrees to participate in the study, then information consent was obtained from the patient.

On the day of surgery:

First, the patient's normal arterial blood pressure was measured using digital blood pressure apparatus during the surgery.

Then, pleasant music was played to the patient via headphones, and the surgery was initiated.

- 5 minutes later the blood pressure was recorded.
- 10 minutes later the blood pressure was recorded.
- 15 minutes later the blood pressure was recorded.

Later, the recorded data were analyzed using Statistical Package for the Social Sciences software version 20 software for windows.

The following results were tabulated (Tables 1-4).

Statistical analysis

The recorded data were analyzed using Statistical Package for the Social Sciences software version 20 software with one-way ANOVA test

RESULTS

The patients participated in this study were patients who were undergoing Dental Surgery at Saveetha Dental College and Hospital. Patients with hypertension also participated in the study. Out of 20 candidates selected for the study, 3 patients were excluded from the study due to their severe diseases such as renal disorder and diabetes, and 2 patients refused to participate in the study. So, 15 patients who underwent dental surgery had participated in this study.

Initially, the patient's blood pressure During the surgery without music was at mean level was 107/65 mmHg with a heart rate of 74 beats/minutes, with a range of systolic pressure from 82 to 125 mmHg, while the diastolic pressure was in the range 52-70 mmHg and the heart rate at the range 69-84 beats/minutes.

However, after the initiation of the surgery, a pleasant music was played to the patient through headphones. Henceforth, the blood pressure of the patient after 5 minutes after the music was played was recorded and a mean level of 116/68 mmHg, with the heart rate at 84 beat/minutes, with a range of systolic pressure from 87 to 144 mmHg, while the diastolic pressure was in the range 51-97 mmHg and the heart rate at the range of 71-102 beats/minutes.

After another 5 minutes interval, the patient's blood pressure was found to be at a mean level 108/65 mmHg, while the heart rate was 79 beats/minutes, with a range of systolic pressure from 86 to 123 mmHg, while the diastolic pressure was in the range 51-85 mmHg and the heart rate at the range of 71-97 beats/minutes.

After 15 minutes from the time of music played, the blood pressure was observed to be at a mean level of 108/61 mmHg, while the heart rate was observed to be 76 beats/minutes, with a range of systolic pressure from 80 to 130 mmHg, while the diastolic pressure was in the range 49-72 mmHg and the heart rate at the range of 70-85 beats/minutes.

The blood pressure during the first 5 minutes of the surgery with pleasant music played was increasing while the blood pressure at the 15 minutes after the music was played shows a similar blood pressure to the blood pressure recorded during the resting phase before the patient underwent the surgery.

There was a significant change in the systolic blood pressure recorded during the 10th and 15th minutes during the surgery with music played

to the patient when compared with the systolic pressure during the Non-Music phase before the surgery with a $p < 0.05$ which proves it to be statistically significant (Fig.1).

DISCUSSIONS

The results of our study prove that pleasant soft music may have effects on stabilizing blood pressure caused by the anxiety and stress produced due the dental surgery undergone by the patient.

Studies have been done, and these studies report on the beneficial effects of listening to music during minor dental surgeries.

This is a first of a kind of this study which studies the effect of pleasant soft music on the blood pressure and heart rate of patients undergoing minor dental surgeries. Patients who underwent the surgery with pleasant soft music reported of pleasant feeling and relaxing experiences. Studies conducted by Bella *et al.* reported that patients

Table 1: Observation of blood pressure during rest

Measures	Time of assessment	Mean rates at 95% CI
Systolic blood pressure (mmHg)	During surgery without music	107 mmHg (82-125 mmHg)
Diastolic blood pressure (mmHg)	During surgery without music	65 mmHg (52-70 mmHg)
Heart rate (beats/minutes)	During surgery without music	74 beats/minutes (69-84 beats/minutes)

CI: Confidence interval

Table 2: Observation of blood pressure with music after 5 minutes

Measures	Time of assessment	Mean rates at 95% CI
Systolic blood pressure (mmHg)	After 5 minutes with music	116 mmHg (87-144 mmHg)
Diastolic blood pressure (mmHg)	After 5 minutes with music	68 mmHg (51-97 mmHg)
Heart rate (beats/minutes)	After 5 minutes with music	84 beats/minutes (71-102 beats/minutes)

CI: Confidence interval

Table 3: Observation of blood pressure with music after 10 minutes

Measures	Time of assessment	Mean rates at 95% CI
Systolic blood pressure (mmHg)	After 10 minutes with music	108 mmHg (86-123 mmHg)
Diastolic blood pressure (mmHg)	After 10 minutes with music	65 mmHg (51-85 mmHg)
Heart rate (beats/minutes)	After 10 minutes with music	79 beats/minutes (68-97 beats/minutes)

CI: Confidence interval

Table 4: Observation of blood pressure with music after 15 minutes

Measures	Time of assessment	Mean rates at 95% CI
Systolic blood pressure (mmHg)	After 15 minutes with music	108 mmHg (80-130 mmHg)
Diastolic blood pressure (mmHg)	After 15 minutes with music	61 mmHg (49-72 mmHg)
Heart rate (beats/minutes)	After 15 minutes with music	76 beats/minutes (70-85 beats/minutes)

CI: Confidence interval

		Sum of Squares	df	Mean Square	F	Sig.
SYSTOLIC PRESSURE WITH MUSIC AFTER 5 MINS	Between Groups	3452.933	10	345.293	20.311	.005
	Within Groups	68.000	4	17.000		
	Total	3520.933	14			
SYSTOLIC PRESSURE WITH MUSIC AFTER 10 MINS	Between Groups	1511.000	10	151.100	22.385	.004
	Within Groups	27.000	4	6.750		
	Total	1538.000	14			
SYSTOLIC PRESSURE WITH MUSIC AFTER 15 MINS	Between Groups	2731.067	10	273.107	24.457	.004
	Within Groups	44.667	4	11.167		
	Total	2775.733	14			

Fig. 1: One-way ANOVA statistical test for systolic pressure in 5 minutes interval

		Sum of Squares	df	Mean Square	F	Sig.
DIASTOLIC PRESSURE WITH MUSIC AFTER 5 MINS	Between Groups	1008.067	6	168.011	1.005	.483
	Within Groups	1337.667	8	167.208		
	Total	2345.733	14			
DIASTOLIC PRESSURE WITH MUSIC AFTER 10 MINS	Between Groups	1150.433	6	191.739	4.058	.036
	Within Groups	377.967	8	47.246		
	Total	1528.400	14			
DIASTOLIC PRESSURE WITH MUSIC AFTER 15 MINS	Between Groups	589.233	6	98.206	2.137	.158
	Within Groups	367.700	8	45.963		
	Total	956.933	14			

Fig. 2: One-way ANOVA statistical test for diastolic pressure in 5 minutes interval

		Sum of Squares	df	Mean Square	F	Sig.
PULSE RATE WITH MUSIC AFTER 5 MINS	Between Groups	918.600	8	114.825	1.501	.319
	Within Groups	459.000	6	76.500		
	Total	1377.600	14			
PULSE RATE WITH MUSIC AFTER 10 MINS	Between Groups	555.533	8	69.442	.639	.728
	Within Groups	652.200	6	108.700		
	Total	1207.733	14			
PULSE RATE WITH MUSIC AFTER 15 MINS	Between Groups	164.033	8	20.504	1.583	.296
	Within Groups	77.700	6	12.950		
	Total	241.733	14			

Fig. 3: One-way ANOVA statistical test for heart rate in 5 minutes interval

had decreased anxiety when they were listening to music before undergoing cataract surgery [18].

A similar study was conducted on elderly patients undergoing cataract surgery, where felt much satisfied to listen to music while undergoing surgery [19].

A cohort study of 121 patients was conducted by cruise *et al.* reported that had less anxiety and stress while undergoing surgery with listening to music. Studies had been conducted to study the decrease in pre-operative blood pressure of patients who were listening to the piano [20].

The findings of the current study prove that entering the operation theater, and the surgical procedures prove to be stressful to the patient which increased the blood pressure of the patient. It appears to be pleasant soft music helps to lower the blood pressure of the excited patient after a span of time listening to music helps them relaxing and soothing them. Mainly, it helped in stabilizing the systolic and diastolic pressure of the patient. Other studies also prove that music helps to lower blood pressure and pulse rate and stress levels of the patient [21-23].

Some studies prove the use of relaxation music is more effective than pre-surgical medication in lower stress levels.

Milk-Kolasa *et al.* report patient listening to music had decreased levels of salivary cortisol levels in saliva which marks decrease in stress levels of an individual [22].

There was a significant decrease in the systolic pressure of the patients who listened to music when compared to blood pressure before entering the operation theater. Allen *et al.*, who investigated the normalization of hypertension response through music in patients without resting blood pressure during surgery. A recent study on the effect of music on blood

pressure reveals that music of different genres, different tempo and dynamics, stable rhythms, and melodic lines show different alterations in blood pressure when they are listening to it [24].

There was no statistical difference in the heart rate as well as diastolic pressure as it was not that much influenced by the music (Figs 2 and 3).

CONCLUSION

According to the current findings, we can conclude by saying that pleasant and soft music has an ability to stabilize the systolic blood pressure of patients undergoing dental surgeries. This pleasant and soft music may be a promising for patients undergoing the pre-operative stress due to increased anxiety and blood pressure and will have a vital capacity to reduce blood pressure. This research proves to be significant to investigate and explore the effects of music therapy on pre-operative stress in different types of anesthesia and surgeries.

ACKNOWLEDGMENT

With sincere gratitude, we acknowledge the staff members of the Department of Physiology and Saveetha Dental College and patients who participated in the study for their extended support toward the completion of this research.

REFERENCES

1. Badner NH, Nielson WR, Munk S, Kwiatkowska C, Gelb AW. Preoperative anxiety: Detection and contributing factors. *Can J Anaesth* 1990;37:444-7.
2. Fitzgerald BM, Elder J. Will a 1-page informational handout decrease patients' most common fears of anesthesia and surgery? *J Surg Educ* 2008;65(5):359-63.
3. Bringman H, Giesecke K, Thörne A, Bringman S. Relaxing music as pre-medication before surgery: A randomised controlled trial. *Acta Anaesthesiol Scand* 2009;53(6):759-64.
4. Trappe HJ. The effects of music on the cardiovascular system and cardiovascular health. *Heart* 2010;96(23):1868-71.
5. Davis WB, Ira Maximilian Altschuler: Psychiatrist and pioneer music therapist. *J Music Ther* 2003;40(3):247-63.
6. Wang SM, Kulkarni L, Dolev J, Kain ZN. Music and preoperative anxiety: A randomized, controlled study. *Anesth Analg* 2002;94(6):1489-94.
7. Nilsson U. The effect of music intervention in stress response to cardiac surgery in a randomized clinical trial. *Heart Lung* 2009;38(3):201-7.
8. Marwick C. Music therapists chime in with data on medical results. *JAMA* 2000;283(6):731-3.
9. Barnason S, Zimmerman L, Nieveen J. The effects of music interventions on anxiety in the patient after coronary artery bypass grafting. *Heart Lung* 1995;24(2):124-32.
10. Hamel WJ. The effects of music intervention on anxiety in the patient waiting for cardiac catheterization. *Intensive Crit Care Nurs* 2001;17(5):279-85.
11. Shenefelt PD. Relaxation strategies for patients during dermatologic surgery. *J Drugs Dermatol* 2010;9(3):795-9.
12. Thompson JF, Kam PC. Music in the operating theatre. *Br J Surg* 1995;82(2):1586-7.
13. Cunningham MF, Monson B, Bookbinder M. Introducing a music program in the peri-operative area. *AORN J* 1997;66(4):674-82.
14. Updike PA, Charles DM. Music Rx: Physiological and emotional responses to taped music programs of preoperative patients awaiting plastic surgery. *Ann Plast Surg* 1987;19(1):29-33.
15. Gaberson KB. The effect of humorous and musical distraction on preoperative anxiety. *AORN J* 1995;62(5):784-8, 790-1.
16. Kaempf G, Amodei ME. The effect of music on anxiety. A research study. *AORN J* 1989;50(1):112-8.
17. Allen K, Golden LH, Izzo JL Jr, Ching MI, Forrest A, Niles CR, *et al.* Normalization of hypertensive responses during ambulatory surgical stress by perioperative music. *Psychosom Med* 2001;63(3):487-92.
18. Bellan L, Gooi A, Rehsia S. The Misericordia Health Centre cataract comfort study. *Can J Ophthalmol* 2002;37(3):155-60.
19. Camara JG, Ruskowski JM, Worak SR. The effect of live classical piano music on the vital signs of patients undergoing ophthalmic surgery. *Medscape J Med* 2008;10(6):149.
20. Cruise CJ, Chung F, Yogendran S, Little D. Music increases satisfaction

- in elderly outpatients undergoing cataract surgery. *Can J Anaesth* 1997;44(1):43-8.
21. Watkins GR. Music therapy: Proposed physiological mechanisms and clinical implications. *Clin Nurse Spec* 1997;11(2):43-50.
 22. Miluk-Kolasa B, Obminski Z, Stupnicki R, Golec L. Effects of music treatment on salivary cortisol in patients exposed to pre-surgical stress. *Exp Clin Endocrinol* 1994;102(2):118-20.
 23. Bradt J, Dileo C. Music for stress and anxiety reduction in coronary heart disease patients. *Cochrane Database Syst Rev* 2009;15(2):CD006577.
 24. Gooding L, Swezey S, Zwischenberger JB. Using music interventions in perioperative care. *South Med J* 2012;105(9):486-90.